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(A) sin?® (B) tan (C) cos® (D) 1

2
pi-1="L 12018A11]
8. (cosecd—cot0)’ 210080 oz Wl [2017A1, 2022A1]
14cos0 .
9, fag = 40 1+,°°59 =2cosech [2017AL, 2022A1]
1+cos®  sin

10, fag e S0 dtana [2017A]
: - 1-sin4 '
' 2
DL fes R R wﬂmu ~ [2017€]

) 1+cot° 4 A .

12. fag wifsw f& ﬂ“e;z—s‘“e_=tane [2016A1]

2cos’0-cos0

|13, fag @ fp cot@-cos8_cosecf-1 [2016A11, 2016C]
i cot®+cos® cosecO+1
© 14, fag HIfTT fF (cosd + sinB)?+ (cosd - sin)’ = 2 [2015A1]
L 15, fog wt T (sec®—tanB)’ -0 [2015A1]
‘ ‘ 1+sin@
' 4 4
| 16, fag F{ fy Sn 0-cos O, [2015A1)
' sin?0—cos’0
l-sind ;
L 17, fog #ifS f& 12 =secA-tanA  [2014Al]
' 1+sin4
' : - 2 _
i 18, Tag =S fw (l ta"A) =tan’ 4 [2014Al]
v 1-cot4
; 19. faz ﬁm f& . 1+cos4 =cosecAd +cot A [2014All]
; 1-cosA
] 2
20, :-i-tm—tz-jqot* A fag = [2014AlI
1 an
5 7 (l+sin9)(l—sin9)
| - 1/2013A
122, Taz WX fF tan’} + cot’p + 2 = sec’ - cosec’d [2012A, 2022A]
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23, 1+sin0 N cos0

=2secH :
cos® 1+sin0 wee 20124]
24, fag = & (l—cotOJz_csz |
' 1—tan0@ IZQZZA’}
25. fag = & (sec’0 - sec?0) = (tan’0 + tan*0) [2022A11]
3" I wed
1. falg = f® tana gotd =(1+tan 4 +cotA)

(1—cotA)+(1—tanA)

2. falg = f® (cosec A —sinA4)(secA —cosA4)
1

tand+cotd . [2020All, 2022A11]
3. fag =X fo— - [2019A1]
(sinA + cosecA?) + (cosA + secA)’ = 7.+ tan’A + cot’A
4. fag =X fo—
sin O . tan 0
l1-cos® 1+cosO

= cosecOsecO+cot0

. [2019A11]

5. fag =i— S [2018All]
(i) sinA (1 +tanA) + cosA (1 + cotA) = secA + cosec A

(i) sin@—cos6+1 _ 1 - [2022A1]

sin®+cos6-—1 ~ secO—tan0

TR

[2020A1, 2021AI]
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